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1. Let £ Represent The alphabet containing two symbols : (a,b)

a) Regular Expression of a language under (a,b) that has a length of three will include terms suck as: 

(aaa,aab,aba,baa,abb,bab,bba,bbb)

Factorize: 

And: (a+b)(a+b)(a+b)

b)  Regular expression of language that is of even length under (a,b) means that it will have a length which is a multiple of 2 such as length of: 0, 2, 4, 6, 8, 10... Which means that it has a length of 2  till any other even number
Language with the length of Two has the regular expression of : (a+b)(a+b)

For even length to infinity we would need to use the * closure to enclose the entire expression.

Ans: ((a+b)(a+b))*

c) Regular expression of a langugr beginning and ending with different letters would contain either a at the beginning and b at the end, or b at the beginning and a at the end. It would also have an undefined amount of a and(or) b in between the beginning and ending terms

Answer a(b*a*)b +b(a*b*)a
